|

- - = " " . - s 2 = i - - o 1 R s - =



1o || Mukely dhe deliewing by 10,100 and 10 00.

C-H48F = QU+ x o= H-2F O-ngmoo:k@.‘}-& 0.4t x 000 = A8F

SR DU UUNES———

a) |

b)iO 904 = O.5¢1 x 10=5-6H |O- 5¢H %100 = Te. :H\ 0-Gg 31 %1000 =5g} .

N [(ODO:GO@B
‘9 6:063 = 6:0B3XI0 >L0-~ %5\6 0GR RLOO= ebéjlé >

1Godz a}36./
@ 2 4= Bl b=l B \& 11 96( x (00 = A4E- 6 ) Amsbl X1 0002l

@ SI 225 = §1. LIS.RLO =S B 35[91 326 2100 = Sc-gza.SLS" 276 =000 = $1€2 5




«Q Wm“l <\0Wh -%Q VMUQ& @D —

Cﬁ\,‘GH.%g —loo= O-Lulad \:>} 2% F100ax 0.3 ) (3-4g = (02] T
ABQUHL{%\OD? PTG Q\%M‘S"\UQU = Y.G4% j}(\ Buyt-R < (Goozt

©.9031% |
‘?\Q j-bi\gooo = Q00016

R D) [ < 10000 70~ OOUAG





{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

